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Chandrayaan-3 has been launched from which of the following centres? | Answer
option
(a,b,c or
d)
a) Vikram b) Satish c¢) ISRO d) Dr. Abdul
Sarabhai Space Dhawan Space Kalam Space (b)
Centre Centre Centre
Dadasaheb Falke Award is associated with which of the following fields? | Answer
option
(a,b,c or
d)
a) Environment b) Cinema c¢) Dance d) Medicine (b)
What is the other name of Newton's first law of motion? Answer
option
(a,b,c or
d)
a) Action- b) Change in c) Law of inertia | d) Constant ©
reaction momentum momentum
How many number of Red Balls are in Snooker? Answer
option
(a,b,c or
d)
a) 13 b) 15 c) 17 d) 20
(b)
English is the official language of _ :
1. Nagaland Answer
2. Arunachal Pradesh option
3. Mizoram (a,b,c or
4. Manipur d)
Select the correct option from the codes given below:
a)Only 1,2 &3 b)Only 2,3 &4 | ¢)Only 1 &2 d)1,2,3&4
(a)
Which country was the host of Asian Games 2023? Answer
option
(a,b,c or
d)
a) India ‘ b) China ‘ c) Bangladesh ‘ d) Japan (b)
What is Aditya L1 Mission? Answer
option
(a,b,c or
d)
a) First b) ISRO c)Another d)Mission to
Indian mission to | mission to mission to study | understand the
study Sun study stars the moon orbit @)
Which of the following statements is true about contamination? Answer
option
(a,b,c or
d)
a) Contamination | b) c¢) Contamination | d) None of the ©
is caused by the | Contamination | is caused by the | above
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entry of germs by | is caused by the | entry of germs

an insect bite entry of germs | into drinking
by an animal | water or edible
bite foods.

9 What are all the main SDGs objectives?
L. Poverty and hunger eradication
II. Higher education and healthcare standards, notably in terms of water | Answer
quality and sanitation. option
III. Gender equality (a,b,c or
IV. Long-term economic growth that promotes employment and d)
strengthens communities
a) [, I & III b) [ Il & IV c) [ &Il d)LIL I &
1\ (d)
10 | Which Indian Armed Force is the host of ‘Tarang Shakti’ multinational air | Answer
exercise? option
(a,b,c or
d)
a) Indian Army b) Indian Navy | c¢) Indian Air d) Indian
Force Coast Guard (c)
11 | Correct the sentence grammatically: She went to gym despite of her | Answer
illness. Choose the correct option from the following- option
(a,b,c or
d)
a) She went to | b) She went to | ¢) She went to | d) She went to
gym in her illness. | gym inspite of | gym despite of | gym despite d
her illness. her illness. her illness.
12 | Select the correct answer. Answer
I’'m reading a novel, but it is really hard to understand. I’m really-------- it. | option
(a,b,c or
d)
a)confused b) confusing c¢) confused by d) confused
on C
13 Answer
You should not get paranoid about what others think of you. option
(a,b,c or
d)
a) Influenced | b) flattered by | c) obsessed with | d) upset by
by d
14 | Find out the Adjective Answer
option
Talk (a,b,c or
d)
a) talking b)talker c)talks d)talkative
d
15 | Match the correct pair of Antonym for Argue Answer
option
(a,b,c or
d)
a)Dissent b)Agree c)oppose d)rebut b




16 | Varun and Madhur invested 325,000 each in different schemes. Varun | Answer
earned simple interest at 11% per annum, whereas Madhur earned | option
compound interest at 10% per annum compounded annually. Who | (a,b,c or
received more interest after 2 years and how much? d)

a) Varun, 3250 | b)Madhur, ¢) Varun, %500 | d) Madhur, | Answer
2250 2302.50 (a)
17 | The average age of a family of four is 28 years. If the youngest member | Answer
is 16 years old, what is the average age of the remaining three members? option
(a,b,c or
d)
a)34 )30 c)32 d)36 Answer
(c)
18 | Arrange the words given below in a meaningful sequence.
1. Police Answer
2. Punishment option
3. Crime (a,b,c or
4. Judge d)
S. Judgment
a)3,1,2,4,5 b)1,2,4,3,5 |¢)5,4,3,2,1 d)3,1,4,5,2 | Answer
(d)
19 | Today is Monday. After 61 days, it will be : Answer
option
(a,b,c or
d)
a) Tuesday b) Monday ¢) Sunday d) Saturday Answer
(d)
20 | Calculate the mode of the following data: 4, 6, 5, 7,9, 8, 10,4, 7, 6, 5, 8,
7,7, 9.
a)4 b) 5 c)6 d)7 Answer
(d)
21 | Increasing the sample size has the following effect upon the sampling | Answer
error? option
(a,b,c or
d)
a) It increases the | b)It reduces the | c)It has no effect | d) All of the
sampling error sampling error | on the sampling | above
error (®)
22 | Sample is regarded as a subset of? Answer
option
(a,b,c or
d)
a) Data b) Set ¢) Distribution d) Population
(d)
23 | Which of the following claims regarding the acquisition of data is | Answer
accurate? option
(a,b,c or
d)
a) The primary | b) The primary | ¢) The primary | d) The
goal of the|goal of the|goal of the|primary goal (a)
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collection of data
is to provide the
proof necessary to
arrive at a
definitive solution
to the issue.

collection  of
data  is to
demonstrate the
movement
necessary to
arrive at a
definitive
solution to the
issue at hand

collection of data
1S to demonstrate
the design
necessary to
arrive at a
definitive answer
to the issue.

of the
collection of
data is to
present  the
numbers
necessary to
arrive at a
definitive
solution to the
issue.

24 | The method of collecting primary data is called- Answer
option
(a,b,c or
d)
a) Questionnaire | b) Observation | c) Neither (a) nor | d) Both (a)
and schedule and Interview | (b) and (b) d)
method method
25 | Structured observation is a part of- Answer
option
(a,b,c or
d)
a) Descriptive b) c) Fundamental | d) All of these
study Experimental study (a)
study
26 | The term “data” came from the Latin root term- Answer
option
(a,b,c or
d)
a)Detem b)Datam c¢) Datum d) Data
(c)
27 | The terms “systematic samplings” and “quasi-random samplings” can be | Answer
used interchangeably:. option
(a,b,c or
d)
a) Completely | b) Partially | c¢) Partially true | d) Completely )
false false true
28 | The Latin word which is understood as the origin of the word ‘plagiarism’ | Answer
is option
(a,b,c or
d)
a) Plagiurius ‘ b) Plugiarius ‘ c) Plagiarize ‘ d) Plagiarius D
29 | There has been a steep rise in plagiarism due to Answer
option
(a,b,c or
d)
a) Availability of |b) Use of |c) Increase in |d) Increase in
digital documents | computers in | enrollment  for | publication a
research research work growth
30 | Research design signifies the structure of the research. Answer
option




(a,b,c or

d)
a) True b) False c¢) Can't say d) None of the a
above
31
Given below are two statements:
Statement I: Every Research Institute has been enforced research ethics in
order to ensure the credibility and meaningfulness of human inquiry. Answer
option
Statement II: ICT and its use in research has abetted ethical lapses in the | (a,b,c or
conduct of research wherever it has been put in place. d)
In the light of the above statements , choose the most appropriate answer
from the options given below:
a) Both the | b)Both the | c)Statement I is | d) Statement I
statements are | statements are | correct but | is  incorrect C
incorrect. correct . statement Il is | but statement
incorrect. 11 is correct.
32 | According to UGC Regulation, match the levels of plagiarism :
A. Level 0 1 Similarities up-to 10% Answer
B. Level 1 i1 Similarities above 10% to option
40% (a,b,c or
C. Level 2 iii Similarities above 40% to d)
60%
D. Level 3 iv Similarities above 60%
ai ,ii, iii ,iv b) iv ,ii ,i,iii c)iii, 1,11, 1v d) iv, iii, i, 1 Answer
a
33 | A Researcher uses data from an earlier research paper and publishes a | Answer
new research paper thisis ................. option
(a,b,c or
d)
a) proper b) acceptable c) ethical d) unethical Answer
D
34 | Research Ethics is the set of principles and guidelines that help us to | Answer
uphold the things we value. option
(a,b,c or
d)
a) True b) False c) Can't say d) None of the | Answer
above a
35 | Which of the following is not True Answer
option
(a,b,c or
d)
a) b) c) d) breaking
misrepresenting | misrepresenting | misrepresenting | confidentiality | Answer
and crating | data is very |data can be|is not a
fraudulent data is | easy to detect. | difficult to detect. | problem. b
dishonest.




36 | Numerical data presented in descriptive form is called
a)Classified b) Tabular c¢)Graphical d)Textual
. . . . Answer
presentation presentation presentation presentation d
37 | Graphs and charts facilitate:
a) Comparison of | b) To know the | ¢c) To know the | d) All the| Answer
values trend relationship above d
38 | In bar diagram, bars are:
a) Horizontal b) Vertical ¢) Slanting d) None of| Answer
above (a)
39 | mean is a measure of
a) Central values | b) Dispersion c¢) Correlation d) None of
above Answer
(a)
40 | A systematic arrangement of data in rows and columns is:
a) Diagram b) Table c)Pie Chart d) All of the | Answer
above (b)
41 | Overall plan or structure of research is called Answer
option
(a,b,c or
d)
a) proposal b) aims and |c) research | d)  research c
objectives design question
42 | Which of the statement is not true?
Answer
A, Hypothesis must have two variables. option
B, Identification of problem is key to research. (a,b,c or
C, Plagiarism is not an offence in law. d)
D, Research aims to fill gaps in law.
a) A is true b) B is true ¢) C is not true d) D is true C
43 | Which of the following sampling method provides each individual or | Answer
member of a population with an equal and fair probability of being | option
chosen? (a,b,c or
d)
a) simple random | b) stratified c) cluster d)none a
sampling sampling sampling
44 | Select the correct pairs:
Answer
A, Bluebook citation UK option
B, Bluebook citation Canada (a,b,c or
C, Bluebook citation USA d)
D, Bluebook citation India
a) Ais correct \ b) B is wrong \ ¢) C is correct \ d) D is correct c




45 | Type-I Error occurs if .............. Answer
option
(a,b,c or
d)
a) the null | b) the null ¢) both the null | d) none of the
hypothesis is | hypothesis is hypothesis as | above.
rejected even | accepted even | well as Answer
though it is true. | though it is alternative a
false. hypothesis  are
rejected.
46 | Research and development become the index of development of country. | Answer
Which of the following reasons are true with regards to this statement? option
(a,b,c or
d)
a) Because R & D | b) Because R & | c¢) Because R & D | d) All of the
targets the human | D reflect the can improve the | above.
development. true economic | standard of living
. . Answer
and social of the people in a J
conditions country.
prevailing in a
country.

47 can be understood as a systematic finding or | Answer
ascertainment of law on an identified topic or in the given area as well as | option
an inquiry into law with a view of making advancement in the science of | (a,b,c or
law. d)

a) Sociological b) Scientific c) Legal d) All of the Answer
research research research above C

48 | UGC-CARE has been set up for promoting
I. Publication ethics
. . Answer
I Quality research .

ii. Inclusion and access option

. .. . (a,b,c or

Iv. Academic integrity d)

V. International collaborative research

Choose the correct answer from the option given below:

a) i, ii, iii b)i, i, iv C)iil, iv, v d)v, 1, i1 Answer
B

49 | Research Journals with a high .......... Are commonly considered to be | Answer

more important than those with lower ones . option
(a,b,c or
d)
a)impact actor b)i10 score ¢)h-index d)eigen factor | Answer
a
50 | The objective of is the development of hypotheses rather | Answer
than their testing. option
(a,b,c or
d)
a) Laboratory | b) Diagnostic | ¢)  Exploratory | d) Empirical | Answer
research research research research (c)
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51 | Who said that the essence of legal right seems to me to be not legally Answer
guaranteed power by itself, nor legally protected interest by itself, but option
the legally guaranteed power to realize an interest? (a,b,c or

d)
a) Paton b) Hegel c) Allen d) Salmond Answer
(c)
52 | Opinion of jurists is: Answer
option
(a,b,c or
d)
a) General source | b) Historical c) Legal material | d) Nota Answer
of law /material source of law source of law (b)
source of law

53 | Who described ownership as a right — indefinite in point of user — Answer
unrestricted in point of disposition and unlimited in point of duration option
over a determinate thing? (a,b,c or

d)
a) Salmond b) Thering ¢) Renner d) Austin Answer
(d)
54 | Who said that in possession there is manifestation of individual will? Answer
option
(a,b,c or
d)
a) Hegel b)Savigny ¢) Rousseau d) Kant Answer
(a)
55 | Who classified sources of law into formal and material sources? Answer
option
(a,b,c or
d)
a) Salmond b) Allen c¢) Keeton d) Austin Answer
(a)
56 | Two main theories of legal right are: Answer
option
(a,b,c or
d)
a)the Will Theory | b) the Will |c) the Interest | d)the Will | Answer
and the Interest | Theory and the | Theory and the | Theory and (a)
Theory Realist Theory | Symbolist the
Theory Concession
Theory.
57 | ‘The life of the law has not been logic: it has been experience’ is stated Answer
by: option
(a,b,c or
d)
a) Holmes b) Dworkin ¢) Cardozo d) Amartya | Answer
Sen (a)
58 | John Rawls’s concept of justice is Answer
option
(a,b,c or
d)




a) Legal Concept | b) Political ¢) Sociological d) Answer
Concept Concept Philosophical (b)
Concept
59 | The legal propositions are generally based on Answer
option
(a,b,c or
d)
a)Generalised b) Exclusivity | ¢) Social interest | d)Political Answer
possibility interest (a)
60 | The judicial thinking is prominently guided by: Answer
option
(a,b,c or
d)
a) Underlying | b) Principles of | c) Practical | d) Classical | Answer
principles of | professional purposes theories of ()
judicial morality | ethics followed by | justice.
judicial science
61 | Match the following jural correlatives: Answer
List I List IT option
A. Right i. No Right (a,b,c or
B. Privilege ii. Duty d)
C. Power iii. Disability
D. Immunity iv. Liability
a) A-i,.B-ii, C- iii, | b) A-ii, B- i, C- | ¢) A-ii, B-i, C-iii, | d) A-i, B-iii, | Answer
D- iv iv, D- iii D-iv C-ii, D-iv (b)
62 | Read A: Assertion and B: Justification and answer by using given below | Answer
options: option
A: Assertion: Kelsen follows Kant in distinguishing between ‘is’ and | (a,b,c or
‘ought’. d)
B: Justification: Kelsen is a forerunner of philosophical school.
a) Both A and B | b)BothAandB | c) Aistrue but B|d) A is false | Answer
are true and B is | are true and B is | is false. but B is true. ()
the correct | not the correct
explanation of A. | explanation of
A.
63 | Read A: Assertion and B: Justification and answer by using given below | Answer
options: option
A: Assertion: Custom to have the force of law must be immemorial. (a,b,c or
B: Justification: Custom represents common consciousness of the people. d)
a) Both A and B | b)BothAandB | c) Aistrue but B | d) A is false | Answer
are true and B is | are true and B is | is false. but B is true. (b)
the correct | not the correct
explanation of A. | explanation of
A.
64 | Mark the incorrect statement: Answer
A. In an 'unlawful assembly'/'riot', there must be five or more members option
B. An 'affray' can be committed by two or more (a,b,c or
C. An 'unlawful assembly'/'riot' can take place in a public or private place d)

D. An 'affray' must take place in a private place only
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a)A and B b)C ¢)D only d)None of | Answer
these (c)
65 | Promotion of hatred among classes of society is an offence under section | Answer
of the Indian Penal Code. option
(a,b,c or
d)
a) 121 A b) 122 A c) 153 A d) 154 A Answer
(©)
66 | X knows Y is suffering from a particular disease in which he can die if | Answer
given a simple blow. X causes a simple blow to Y with an intention to | option
cause bodily injury. Y dies. X is guilty of: (a,b,c or
d)

a) Murder b)Culpable c)Grievous hurt | d) Simple hurt | Answer
homicide not (a)
amounting  to
murder

67 | Which one of the following pairs is not correctly matched? Answer

A. Mens rea - R. v. Prince option

B. Necessity - D.P.P. v. Beard (a,b,c or

C. Insanity - M' Naghten case d)

D. Intoxication - Basudev v. State of Pepsu

a)A and B b)B only c¢)Aand D d)A,Band C Answer

(b)
68 | A and Z agree to fence with each other for amusement. This agreement | Answer
implies the consent of each to suffer any harm which, in the course of such | option
fencing, may be caused without foul play. A while playing fairly, hurts Z | (a,b,c or

and as a result, Z dies. A is liable: d)

a) For causing | b) For murder | c) For no offence | d) For | Answer

hurt to Z to Z by culpable (©)
negligence homicide not

amounting to
murder
69 | Under Section 44 of the Indian Penal Code, the term 'Injury" means any | Answer
harm: option

A.lllegally caused to a person in body and mind (a,b,c or

B. Illegally caused to a person in body, mind, reputation or property d)

C. Illegally caused to a person in body and property

D. Illegally caused to a person in bod

a)A b)B c)D d)None of | Answer

these (b)
70 | A, B and C plan to enter into a jewellery shop and commit theft at the | Answer
shop. They collect the implements of house breaking and go to the | option
jewellery shop to execute their plan. On reaching there, they find a police | (a,b,c or

patrol van stationed outside the shop and hence return. Their act amounts d)

to:

a) Attempt to |Db) Criminal | ¢) Attempt to | d) Both A and | Answer

commit conspiracy commit theft C (b)

housebreaking

71 | The abetment of offence is completed as soon as: Answer
option
(a,b,c or
d)
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a) The offence | b) The abettor | ¢) The person | d) The abettor | Answer
abetted has been | has incited | abetted has done | has done (b)
committed another person | some overt act | something at
to commit an | towards the | the time of
offence commission  of | commission
the offence of the offence
itself to help
its
commission
72 | The Supreme Court of India has observed a clear distinction between | Answer
dishonestly and fraudulently in the case of: option
(a,b,c or
d)
a)Nathu Lal v.|b) Dr. Vimla v. | ¢) Central Bank | d)Mubarik Ali | Answer
State of M.P. Delhi of India v. Narain | v. State of (b)
Administration Bombay
73 | Common intention and similar intention was distinguished in the famous | Answer
case: option
(a,b,c or
d)
a)Barendra b)Mehboob ¢)Kripal Singh v. | d)Rishidey Answer
Kumar Ghosh v. | Shah v. | State of UP Pandey V. (b)
Emperor Emperor State of UP
74 | Match List-I with List- II and select the correct answer from the options | Answer
given below: option
List I List- 11 (a,b,c or
A Criminal Breach of Trust 1. Section 396 d)
B.Public Nuisance i1. Section 354
C.Dacoity with Murder iii. Section 405
D.Assault with intention to | iv. Section 268
outrage modesty of women
a) A- 1, B-ii, C-iii, | b) A-ii, B-i, C- | ¢) A-iv. B-iii, C- | d) A-iii, B-iv, | Answer
D- iv iv, D- iii ii, D-i C-i, D-ii (d)
75 | Match List I with List I and select the correct answer from the options | Answer
given below: option
List I List IT (a,b,c or
A. K. M. Nanavati v. State of | i. Criminal conspiracy d)
Maharashtra
B. Virsa Singh v. State of | ii. Dacoity
Punjab
C. Barindra Kumar Ghosh v. | iii. Murder
Emperor
D. ShyamBehari v. State of U.P. | iv. = Grave  and  sudden
provocation
a) A- iv, B-iii, C- | b) A- i, B-ii, C- | ¢) A- iv, B-1ii, C- | d) A- i, B-iii, | Answer
i, D-ii iv, D-iii i, D-iii C-1iv, D-1ii (a)
76 | Which of the following combinations are not correctly matched? Answer
A. Dowry death- Section 498A option
B. Rape- Section 377 (a,b,c or
C. Adultery- Section 497 d)

D. Robbery- Section 391
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a)A,Cand D b)A,BandD |[c)A,BandC d)B,Cand D | Answer
(b)
77 | Who propounded the concept of “Rule of Law”? Answer
option
(a,b,c or
d)
a) Ivor Jennings | b) Mahatma c¢) Jawaharlal d)A. V. Dicey | Answer
Gandhi Nehru (d)
78 | Which of the following is true for Ombudsman: Answer
A. A special type of administrative tribunal option
B. An executive Order issued by the President (a,b,c or
C. A government official responsible for investigating complaints against d)
administrative agencies
D. A kind of international treaty
a)A, D b)B, D ¢)C only d)A, B and D Answer
(©)
79 | If the interests of a third party are involved in the information sought, the | Answer
maximum time limit to get the information under RTI Act 2005 will be? option
(a,b,c or
d)
a) 30 days b) 40 days c) 45 days d) 60 days Answer
(b)
80 | Read A: Assertion and B: Justification and answer by using given below | Answer
options: option
A: Assertion: The courts follow the principle of natural justice while | (a,b,c or
deciding cases. d)
B: Justification: Justice should not only be done but should manifestly
and undoubtedly be seen to be done.
a) Both A and B | b)BothAandB | c) Aistrue but B|d) A is false | Answer
are true and B is | are true and Bis | is false. but B is true. (a)
the correct | not the correct
explanation of A. | explanation of
A.
81 | Who told “Constitution is the aggregate of laws and customs under which | Answer
the life of the state goes on” option
(a,b,c or
d)
a)A.V Dicey | b) Lord Bryce | c)Fine d)None of | Answer
them (b)
82 | Which part of the Indian Constitution expressed “Fabian Socialism* Answer
option
(a,b,c or
d)
a) Part [ b) Part 11 c) Part 111 d) Part IV Answer
(d)
83 | Who told that the right to Constitutional remedies is the soul and heart of | Answer
the Constitution? option
(a,b,c or
d)
a)B. R Ambedkar | b)J Nehru c)Rajendra d)None of | Answer
Prasad them (a)

13




84 | In which year the term“socialist” added to the Preamble of the | Answer
Constitution? option
(a,b,c or
d)
a)1976 b) 1977 c)1978 d)None of | Answer
these (a)
85 | A member of the Council of Ministers can be asked to tender his | Answer
resignation if he loses the confidence of: option
(a,b,c or
d)
a)The Governor | b) The State | ¢c)The Chief | d)The High | Answer
Legislator Minister Court (©)
86 | Which one of the following methods for the retirement of the members of | Answer
the Legislative Council is correct? option
(a,b,c or
d)
a)All the | b)One-third ¢)One-fourth d)One-  half | Answer
members  retire | members retire | members  retire | members (b)
simultaneously every two years | after every two | retire after
years every two
years
87 | If there is any disagreement between the Rajya Sabha and the Lok | Answer
Sabhaover a bill, the President will convene a joint sitting of both Houses | option
of the Parliament under Article. (a,b,c or
d)
a) 107 b) 109 c) 111 d)108 Answer
(d)
88 | If a new state of the Indian Union is to be created, which one of the | Answer
following schedules of the Constitution must be amended? option
(a,b,c or
d)
a)First b)Second ¢)Third d)Fifth Answer
(a)
89 | Which of the following articles of the Indian Constitution provides for Answer
endeavour of every State to arrange adequate facility for instruction in option
the mother tongue at the primary stage of education ? (a,b,c or
d)
a)Article 349 b)Article 350 c)Article 351 d)Article 350- | Answer
A (d)
90 | A boy, aged 11 years, has been compelled to work in a factory making | Answer
match boxes. Which Fundamental Right is violated in this case? option
(a,b,c or
d)
a)Right to | b)Right against | c)Right to | d)Right to | Answer
Equality Exploitation Freedom Freedom of (b)
Religion
91 | Administrative Law forms part of Answer
option
(a,b,c or
d)
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a) International | b) Common | ¢) Public Law d) Private Law | Answer
Law Law (c)
92 | Adelegated Legislation may be held valid on the ground of Answer
option
(a,b,c or
d)
a) Parent Act is | b) Mala fide; | ¢) Where | d) Where | Answer
unconstitutional. | bad faith delegated parent act (d)
legislation is | delegates
unconstitutional | incidental
legislative
functions
93 | ‘Administrative law is the law relating to the administration. It Answer
determines the organisation’s, powers and duties of administrative option
authorities.” This definition of Administrative Law is given by (a,b,c or
d)
a) Prof. K.C.|Db) Schwartz c) Sir Ivor | d) Prof Wade Answer
Davis Jennings ()
94 | French Legal system is known as Answer
option
(a,b,c or
d)
a)Droit b)Counseil d’ | ¢) Judiciary d) none of the | Answer
Administratif etat above (a)
95 | Who has written the book “The Law and the Constitution.”? Answer
option
(a,b,c or
d)
a) Edward Coke | b) A.V Dicey c) V.G d) Wade & Answer
Ramachandran Forsyth (b)
96 | Marriage is a sacrament amongst Answer
option
(a,b,c or
d)
a) Hindus b) Muslims c¢) Christians d) both (a) and | Answer
(). (a)
97 | Marriage of two Hindus can be solemnised under Answer
option
(a,b,c or
d)
a) Hindu | b) Special | c¢) either (a) or (b) | d) only (a) & | Answer
Marriage Act, | Marriage Act, not (b) (c)
1955 1954
98 | Who is called “the father of International Law™?
a)Hugo Grotius b) Oppenheim | c¢) Surez d) None of | Answer
these (a)
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99 | Contiguous Zone is limited to a maximum of
a) 25 Miles b) 50 Miles c¢) 12 Miles d) None of| Answer
these (a)
100 | Non-permanent members of the Security Council are elected for a period
of
a) 7 Years b) 3 years ¢) 2 Years d) None of| Answer
these (c)
101 | Number of judges of International Court of Justice is
a) Nine b) Twelve ¢) Fifteen d) None of| Answer
these (c)
102 | Pacta Sunt Servenda means
a) Treaties b) An c¢)International d)None of | Answer
between states are | unwanted Law must be these (a)
to be respected person honored
103 | Principles Jus Soli means
a) Grant of b) Grant of c¢) Grant of d) None of Answer
nationality on the | nationality on | nationality these. (a)
basis of place of | the basis of through
birth blood naturalization
relationship
104 | Recognition of new state is a matter of
a) International | b) c) Policy of the | d) None of | Answer
Law Constitutional | State these ()
Law
105 | Genocide Convention was adopted by the UN General Assembly in
a) 1945 b) 1950 c) 1960 d) 1948 Answer
(d)
106 | Principle of Double Criminality means that:
a) The person b) The person | ¢) The person d) None of Answer
who is being who is being extradited must | these ()
extradited must extradited must | be punished only
be tried in both be tried in both | for the offence
the states the states but for which in both
may be the states
punished in one
state.
107 | Which of the following is not a source of international law?
a) Treaties and | b) Custom c¢)Judicial d) None of | Answer
Convention Decisions  and | these (d)
Teachings
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108 | In a contract of Guarantee under the Indian Contract Act, 1872 there
are:-
a) Two parties b) Three parties | ¢) Three parties | d) Two parties | Answer
and two contracts | and three and one contract | and one (b)
contracts contract
109 | Which Section of the Sale of Goods Act, 1930 deals with Goods sent on
approval or “on sale or return”
a) Sec. 14 b) Sec. 24 ¢) Sec. 34 d) Sec. 10 Answer
(b)
110 | The principle of ‘caveat, emptor is enunciated in the Sale of Goods act,
1930 under:
a) Sec. 15 b) Sec.16 ¢) Sec. 27 d) Sec. 28 Answer
(b)
111 | Every promise and every set of promises, forming the consideration for
each other, is called as:
a) A Voidable | b) A Contract c) A Void | d) An | Answer
Contract Contract Agreement (d)
112 | When the communication of a proposal is complete:
a) When it do not | b) When it ¢) When it comes | d) When it Answer
comes to the comes to the to the knowledge | comes to the (d)
knowledge of the | knowledge of | of the personto | knowledge of
person to whom it | another person | whom it is not the person to
is made. that some made. whom it is
communication made.
was made to
the concerned
person.
113 | In order to convert a proposal into a promise, the acceptance must:
a) Be absolute b)Be expressed | c)Be absolute d)Both B and Answer
and qualified. in some usual | and unqualified | C only. (d)
and reasonable
manner, unless
the  proposal
prescribes  the
manner in
which it is to be
accepted.
114 | Consent is defined as:
a) Two or more b) Two or more | ¢c) Two or more | d) Two or Answer
persons are said persons are said | persons are said | more persons (b)
to consent when | to consent to consent when | are said to
they agree. when they they understand | consent when
agree upon the | the same thing they agree
same thing in upon the same
the same sense. thing.
115 | An agreement in restraint of the marriage of a major person is:
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a) Legal b) Illegal ¢) Void d) Voidable Answer
(©)
116 | A wagering contractis ........ whereas a contingent contract is.....
a) Void/ Valid b) Valid/ Void | ¢) Valid/ Voidable | d) Voidable/ | Answer
Valid (a)
117 | What are the general duties of a partner:
a) To render true | b) To carry on | c)Tobejustand | d) All of the | Answer
accounts and full | the business of | faithful to each above (d)
information of all | the firm to the | other
things affecting greatest
the firm to any common
partner or his advantage
legal
representative
118 | Torts are grounded in the concept of..... Answer
option
(a,b,c or
d)
a)sincerity b)court c)law d)rights Answer
d
119 | Which of the following is not correctly Matched: Answer
option
1. Ubi jus 1ibi remedium — Where there is a right there is damage. (a,b,c or
2. Res ipsa loquitor- Things speaks for themselves. d)
3. Damnum sine injuria — Damage without injury.
4. Injuria sine damnum- injury without damage.
a)l, 2,3,4 b)2 &3 o)l &4 d)2,3, &4 Answer
a
120 | Assertion (A) When right of a private individual has been infringed by | Answer
other individual, it is called Tort. option
(a,b,c or
Reason ( R') When right of a public at large has been infringed it is called d)
crime.
a)Both A & R are | b)BothA& R | c)Both A & R are | d)A is true but | Answer
true but R is not | are true but R is | false. R is false. a
correct correct
explanation of A. | explanation of
A.
121 | Which of the following is an example of trespass? Answer
option
(a,b,c or
d)
a) Jim hunts on | b)Sue walks in | c)Lisa walks into | d)Josh Answer
David’s land | front of Ron’s | Heather’s house, | borrows a
without David’s | house, staying | who has invited | Luke’s car
permission. While | on the | her over for | after Josh asks
there, Jim shoots | sidewalk. lunch. Luke to run to
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one of David’s the store to
cows, mistaking pick up some
the cow for a deer. milk.

David sells his
cows to make a
living.

122 | Defamation involves: Answer
option
(a,b,c or
d)
a)at least 5 people | b)a contract. c)using a | d)making Answer
to be present. weapon. false d
statements
about
someone.
123 | Consumer Protection Act is significant to Answer
option
(a,b,c or
d)
a)lmmovable b)Movable c)Particular d)All Goods | Answer
Goods Goods Goods and | and Services d
Services
124 | Matching pairs: Answer
option
A Chapter II I CONSUMER PROTECTION (a,b,c or
COUNCILS. d)
B Chapter III IiICENTRAL CONSUMER
PROTECTION AUTHORITY
C Chapter IV [LICONSUMER  DISPUTES
REDRESSAL COMMISSION
D Chapter V IvVMEDIATION
a) A(i), B (ii), C (| b)A(ii), B (iii), | ¢)A(iv), B (iii), C | d)A(iii), B | Answer
iii) , D (1v). C(1),D(iv). |(1),D(1i). (iv),C(i),D a
(ii).
125 | Which one of the following is not correct according to Consumer | Answer
Protection Act? option
(a,b,c or
A. District forum shall consist of a lady social worker. d)
B. State Commission shall consist of a person who is or has been a
Judge of a High Court.
C. District forum shall consist of four members.
D. National Consumer Disputes Redressal Commission shall consist
of a person who is or has been a Judge of the Supreme Court.
a)A&B b) C Only c)C&D d)B&D Answer
B
126 | In July 2020 , the Govt. of India established the Central Consumer | Answer
Protection Authority under the Consumer Protection Act , ----------- option
(a,b,c or
d)
a) 2018 b)2015 ¢)2019 d)2020 Answer
C
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127 | Which Consumers Right is not guaranteed under Consumer Protection | Answer
Act, 20197 option
(a,b,c or
d)
a) Right to | b) Right to be | c)Right to seek | d)Right to | Answer
Choose Heard redressal Exploitation D
128 | When IT Act 2000 came into effect? Answer
option
(a,b,c or
d)
a) October 17 ,|b) December | c) August 25,|d) September | Answer
2000 30, 2000 2000 17,2000 A
129 | How many schedules are there in IT Act 2000? Answer
option
(a,b,c or
d)
a)2 b)3 c)4 d)6 Answer
C
130 | Which Act in India focuses on Data privacy and information technology? | Answer
option
(a,b,c or
d)
a)Banking b) IT Act 2000 | ¢)IT d) Indian | Answer
Regulation  Act (Amendment)Act | Penal Code. C
1949 2008.
131 | When did the Universal Declaration of Human Rights created ? Answer
option
(a,b,c or
d)
a)1960 b)1948 ¢)1980 d)1947 Answer
b
132 | Match the pairs of UDHR Answer
option
A Right to Nationality i (a,b,c or
B Right to Property i d)
C Right to work il
D Right to rest and Leisure v
a) ii, iv, iii, 1 b)iv , iii, ii. 1 ¢) ii, iv, 1, iii d) iii, 1, 11, iv Answer
a
133 | True False statements: Answer
option
A Human Rights and Civil Rights are same (a,b,c or
B Henry Dunant was the founder of the International Committee of the d)
Red Cross
a)Only A | b) Both the ¢)Only B | d)Both the | Answer
statement is | statements are | statement is | statements are d
correct wrong Correct correct.
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134 | Definition of Human Rights is provided under Answer
option
(a,b,c or
d)
a) Section 2 (d) of | b) Section 2 (b) | ¢) Section 2 (a) of | d) Section 2 | Answer
the Protection of | of the | the Protection of | (h) of the a
Human  Rights | Protection of | Human  Rights | Protection of
Act, 1993 Human Rights | Act, 1993 Human Rights
Act, 1993 Act, 1993
135 | Declaration of the Rights of Man and of the Citizen is the result of Answer
option
(a,b,c or
d)
a)French b)American c) England | d)bothaandb | Answer
Revolution Revolution Revolution a
136 | In which year Forest Conservation Act was passed.. Answer
option
(a,b,c or
d)
a)1990 b)1980 c) 1976 d)2000 Answer
b
137 | Type Questions here for matching pairs: Answer
option
A Ramsar Convention I 1971 (a,b,c or
B Montreal Protocol i 1987 d)
C Convention on Biological | Iii 1992
Diversity
D Rio Summit Iv 1992
ai, ii, iii, v b) iv, iii, i, i C)iii, ii, iv,i d)ii, v, 1, iii Answer
a
138 | Cartagena Protocol introduced for biosafety to the convention on | Answer
biological diversity in the year of 2000 option
(a,b,c or
d)
a) False b) True c) Cant say d) None of the | Answer
above b
139 | Read Assertion (A) and Reason (R) and answer using codes given below | Answer
: option
Assertion (A): Customary International Law if not contrary to the | (a,b,c or
Municipal Laws shall be deemed to have been incorporated in the d)
Domestic Law and shall be followed by the courts.
Reason (R) : Sustainable development as a balancing concept between
ecology and development has been accepted as a part of customary
International Law.
a) Both (A) and | b) Both (A) and | ¢) (A)isright,but | d) Both (A) | Answer
(R) are right and | (R) are wrong. | (R) is wrong. and (R) are a
(R) is the correct right, but (R)is

reason of (A).
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not the correct
reason of (A).

140 | In which year The Environment Protection Act was passed? Answer
option
(a,b,c or
d)
a) 1958 b)1989 c)1986 d)1990 Answer
C
141 | Kyoto protocol is related with ....... Answer
option
(a,b,c or
d)
a) Pollution b)Population ¢)Global d) Wild life | Answer
warming protection C
142 | Type Questions here for matching pairs: Answer
option
A. Bhoj wetland 1 Manipur (a,b,c or
B. Loktak Lake i1 Mizoram d)
C. Pala wetland iii Tripura
D. Rudrasagar Lake iv Madhya Pradesh
a) iii, 1, ii, 1v b) iv, 1, i, iii c) v, iii, ii,1 d)iii, 1, iv, i Answer
b
143 | ‘Sweat of the brow’ principle is associated with - Answer
option
(a,b,c or
d)
a) Patent b) Trademark c) Design d) Copyright
d
144 | Proof of origin is required in which of the following? Answer
option
(a,b,c or
d)
a) Geographical | b) Contract c) Patent d) Design a
Indication
145 | The Information Technology (Intermediary Guidelines and Digital Media | Answer
Ethics Code) Rules, 2021 deals with option
(a,b,c or
d)
a) Safe harbour | b) Code of | c¢) Strict liability | d) principle of b
provision ethics and equity
procedure and
safeguards in
relation to
digital media
146 | Under which section of Information Technology Act of 2000, amended in | Answer
2008, stealing any digital asset or information is considered as | option

cybercrime?
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(a,b,c or

d)
a) 65 b) 65-D c) 67 d) 70 a
147 | ‘Claims’ is an essential part of Answer
option
(a,b,c or
d)
a) Contract b) Patent c) Tort d) Copyright
b
148 | Which of the following is not patentable? Answer
option
(a,b,c or
d)
a) process b) product c) idea d) both
product and C
process
149 | If the owner of a copyrighted work the Copyright board will | Answer
grant a compulsory license. option
(a,b,c or
d)
a) Refused to|b) Refused to | c)Refusedtopay | d) Refused to b
assign copyright | republish tax to the | supply
to another person government
150 | The Negotiable Instruments Act, 1881 is an Act to define and amend the
law relating to:
a) Cheques b) Bills of c)Promissory d) all of the Answer
exchange Notes above (d)

23




